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TH4 R 3L SR 05 - ALl ERGRTEHE (1)
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1001010003 Ny Jky (Je=7) [FEYE] [LIfH0. 45m3 (SF-AH0. 35m3) A 0.072 443
1001010007 Ny Jky (Je=7) [FEYE] [LIf0. 8m3 (FFAHO. 6m3) A 0. 387 3, 864
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2 IR BA{SL =2 i w%E
nn#& a9)—hak (&fR) m3 1,800 [E#fEEES L=2. 7km
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[(R3ESILER (1) ]

N OB B B O£ No.
THEX5y T & &Rl At | WK H ¥ R -
(L~ULl1) (Lr~UL2) (L~UL3) (L~UL4g) (L~ULb) i1 =
BRI E
BT
BT | BB (AL B<2.5 m? 20
HEH T WY (L) | A—7rH v b |m? 250
E¥ELT
KUED B +w H=5. Om m? 50
Koy B +-# m° 20
HEL D +Hb W1<1.0 m? 20
FEmEE IR FEmEEIE m? 65
AL T
b5 3wy AN m’ 300
SRR T
FEYE B U T 207)- M B L HHEF; m® 39
TR ALEE T ELEMRALER =20 — e [ m3 39
PEAKIEEY T
1R T
(URLARI) U 5 | s e om | 1 19
(PEREmT) ERLENIT m® 0. 02
e L2 L m? 0.4
o s |RC-30 t=100mm|m? 19
ES hix Ry 05 77
iR ENZAR 18-8-25 m® 2.3
PERE T
ST HERE T
agbrhase | =227V —1b | ¢ck=18N/mn® |m° 57
il i — A [ m? 106
BH oA £=200mm m? 76
3 OBE K | RC-40 t=200mm|m? 46
H H1 #f |=9=2%1F t=10m|m? 6
KA 7 VP ¢ 65 m 19
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JL1) (L~L2) (L~L3) (L~14) (L)L) |2
B E
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FEIH IR i E 6
AL T
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HEYE T
R BUE U |20 - Mg L 175 m’ 1
AsliZERUE L m® 24
SR AL T ERSESR AL =20 — psmm [ m3 1
TAT 7V N m® 1
— R E T
WA E MEAAR 300X 300 m 5
ES 300 'S 9
Pkt EY T
B ATFT B 5K | 72 1000x500x1400 3 1
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e P — AR | m? 10
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PR 2 | SOOME, T-25 |4k 1
I IR PR
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B E
HIAT
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| P — A |m? 10. 4
¥ f M |RC-40 t=200mm|m? 2.3
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LUIE % NEN 300 X 300 m 5
EVVERE 300H 75 9
H#1E /L 2 L 1:3 m® 0. 002
BENLH IV 1:3 m® 0. 05
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F—7 + W m3 | 250.3 250. 3




E:) SEHEE T I 5 & &
B+ (BRFK) B<25 Bt (BBER) 25=B<40 B+ (BRPK) 4.0=B
Al =1 BB OBt | BT @ |THEE| ¥ = | B @ | FHUFE| R = | B @ | FONE| # = 1
(m) (m2) (m2) (m3) (m2) (m2) (m3) (m2) (m2) (m3)
13 + 10.000 0.4
14 + 0.000 10.00 0.5 0.45 45
15 + 0.000 20.00 0.5 0.50 10.0
15 + 10.000 10.00 0.5 0.50 5.0
5 & 40.00 19.5 |m3
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(m) (m2) (m2) (m3) (m2) (m2) (m3) (m2) (m2) (m3)
{8
13 + 10.000 11.5
14 + 0.000 9.50 7.5 9.50 90.3
15 + 0.000 19.50 44 5.95 116.0
15 + 10.000 10.00 4.4 4.40 44.0
EHEE 39.00 250.3 |m3




B+ T NRZE

Bl KYEB HWEC WD
i RIEB’ FEHHEEIE
& H=5 I=SWi<4| wi<i
=R IVA m3 m3 m3 m3 m2
£ 51.7 19.9 19.9 —
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(m) (m2) (m2) (m3) (m) (m) (m2) (m) (m) (m2)
13+ 10.000 1. 80 3.16 2.3b H= 2.
14 + 0.000 8. 90 1.61 1. 705 15. 17 2. 94 3. 050 27.15 2. 14 2. 245 19. 98 H= 2.
14 + 15.000 14. 90 1.52 1. 565 23. 32 2.83 2. 885 42.99 2. 04 2. 090 31. 14 H= 2.
14 + 15.000 1.26 2.49 1.72 H=
15 + 0.000 4. 50 1.26 1. 260 5.67 2.49 2. 490 11.21 1.72 1. 720 7.74 H=
15 + 10.000 10. 00 1.26 1. 260 12. 60 2.49 2. 490 24.90 1.72 1. 720 17. 20 H=
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(m) (m) (m) (m2) (m) (m) (#m2) (m) (m) (m2)
13+ 10.000 1.27 = 2.55
14+ 0.000 8. 90 1.23 1. 250 11.13 = 2.35
14+ 15.000 14. 90 1.21 1. 220 18. 18 = 2.25
14+ 15.000 1.15 = 1.95
15+ 0.000 4.50 1. 15 1. 150 5.18 = 1.95
15+ 10.000 10. 00 1. 15 1. 150 11. 50 = 1.95
B i #
1/10%  56.76 = 5.7 m2
KFENAT
1/3% 56.76 = 18.9 m
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13+ 10.000 5.60 5.60

14 + 0.000 10.00 4.33 4.965 49.65 4.33 4.965 49.65

15 + 0.000 20.00 3.97 4.150 83.00 3.97 4.150 83.00

15 + 10.000 10.00 3.97 3.970 39.70 3.97 3.970 39.70

& § 40.00 172.35 |m2 172.35 |m2 E MR EW=]4.31 m
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— 1A Y K CEYWriE) a= 1/2%(0. 83+0.90)= 0. 87m2
ipay 7 V) —h
V= 0. 87% (0. 90+1/2%0. 80) 1.1 m3
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—0. 055%0. 08%1. 00%2 1. 15 m3
T — A P A= 2% (1.40+0. 90) *1. 60+2% (1. 00+0. 50) *1. 40
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TR t=15cm, RC-40 A= 1.50%1. 00 1. 50 m2
A () = 50008, T-255F s N= 1 K
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Rl — TR A= 2%(1.65+1.40)%*1.70 10. 37 m2
sier t=20cm, RC—40 A= 1/2%(1. 17+1. 50)*1. 70 2.27 m2
T AR AR
{RINEA AR T RELEL 300%300 L= 4.50 4.5 m *) BER & FFIH
avy ) — & 3004 N= 4.50/0.5 9 ¥ *) BERR & FAI
Hih®/L %L 1:3 V= 0. 0004%4. 50 0. 002 m3 %) 0. 0004m3/m
)L XL 1:3 V= 0.0108%4. 50 0. 05 m3 %) 0.0108m3/m
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T AT 7 v MNEEE GERGER)
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e B t=10cm, RM-30 A= 22.76 29.8 m2

T g B t=10cm, RC-30 A= 22.76 22.8 m2
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a7 ) — MEREERR | t=10cm, 18-8-25(20) | A= 1.18 1.2 2

B t=10cm, RM-30 A= 1.18 1.2 m2

Ve PR R D6%150%150 A= 1.18 1.2 n2




